BIRLA HIGH SCHOOL (Boys' Section) <u>AISSCE – 2022 (Class-12)</u> **Results at a Glance**

No. of students appeared	221
No. of students passed	221
No. of Compartmental	0
No. of Failures	0
No. of students secured 60% and above	221
% of students secured 60% and above	100
No. of students secured 70% and above	216
% of students secured 70% and above	97.74
No. of students secured 80% and above	184
% of students secured 80% and above	83.26
No. of students secured 90% and above	107
% of students secured 90% and above	48.42

School Mean: 87.65

Code	Subject	Total No. of students appeared	90% and above	80% to 89%	60% to 79%	40% to 59%	Below 40%	Highest Score
301	English	221	105	105	11	0	0	98
302	Hindi	30	11	10	9	0	0	94
105	Bengali	7	5	2	0	0	0	96
041	Mathematics	202	72	34	63	33	0	100
042	Physics	121	50	35	35	1	0	100
043	Chemistry	121	61	31	27	2	0	100
044	Biology	31	14	11	6	0	0	100
055	Accountancy	90	47	24	15	4	0	100
030	Economics	83	48	21	11	3	0	100
054	Business Studies	90	60	19	8	3	0	100
066	Entrepreneurship	50	35	13	2	0	0	100
027	History	8	3	2	2	1	0	94
028	Political Science	10	7	0	2	1	0	100
037	Psychology	12	7	2	3	0	0	100
083	Computer Science	86	53	24	9	0	0	100
067	Informatics Practices	8	2	0	5	1	0	97
048	Physical Education	27	16	8	3	0	0	99
039	Sociology	9	6	2	1	0	0	99
029	Geography	2	1	1	0	0	0	94
045	Biotechnology	1	1	0	0	0	0	91

BIRLA HIGH SCHOOL AISSCE 2021-22 (Class XII) – Ranks

Top three in the School

Rank	Name of the student	Total marks obtained	Percentage
1	ANGAD RIAT	493	98.6
2	AMAN BAGARIA		
	BHASKAR AGARWAL	492	98.4
0	SOORYAM GOENKA	490	98
3	ARKAPRAVO PATRA	430	30

Commerce Stream topper

Rank	Name of the student	Total marks obtained	Percentage
1	AMAN BAGARIA BHASKAR AGARWAL	492	98.4
2	SOORYAM GOENKA	490	98
3	HEET SINGHI	489	97.8

Science Stream topper

Rank	Name of the student	Total marks obtained	Percentage
1	ANGAD RIAT	493	98.6
2	ARKAPRAVO PATRA	490	98
3	NAKSHAT PANDEY	488	97.6

Humanities Stream topper

Rank	Name of the student	Total marks obtained	Percentage
1	SHAURYA SAURABH	481	96.2
2	MEGH MUKHERJEE	477	95.4
	ANUBHAV DAS	4//	95.4
3	RITWIK BHAUMIK	469	93.8

BIRLA HIGH SCHOOL Statement of the mean of the marks obtained by the students in AISSCE (Class XII Board Examination)

Academic Session				
2017 – 2018	86.74			
2018 – 2019	85.91			
2019 – 2020	89.66			
2020 – 2021	89.64			
2021 - 2022	87.65			

Note

The mean of the marks was calculated on the basis of 5 subjects (English and the best of 4 subjects).

BIRLA HIGH SCHOOL

Statement of the mean of the marks obtained by the students in AISSCE (Class XII Board Examination)

	Total number of students	Sum of the marks obtained	Number of subjects	Mean of the marks obtained
2018	214	92987	1070	86.74
2019	205	88059	1025	85.91
2020	203	91005	1015	89.66
2021	205	91886	1025	89.64
2022	221	96825	1105	87.65

BIRLA HIGH SCHOOL

1, Moira Street, Kolkata - 700017

AISSCE (Class 12)

	2019	2020	2021	2022
Total Number of students appeared	205	203	205	221
Failures, if any		NIL	NIL	NIL
Compartmental		NIL	NIL	NIL
Passed with First Divisions	100%	100%	100%	100%
Passed with Second Division		NIL	NIL	NIL
Average of total marks obtained	85.91	89.66	89.64	87.65
Salient Features, if any	100% in Economics Mridul Heda Yash Damani Harsh Toshniwal 100% in Mathematics Siddharth Sonthalia Harsh Toshniwal 100% in Physical Education Gosharya Bagri Siddhant Kochar	100% in Economics 1. AMAN KUMAR SHAH 2. AARYAN AGARWAL 100% in Chemistry KINJAWL BHATTACHARY YA 100% in Accountancy APURVA KUMAR SHROFF 100% in Psychology RAYAN CHAKRABARTI	100% in Economics Lokesh Somani 100% in Accountancy Lokesh Somani 100% in Chemistry Aditya Roychowdhury 100% in Psychology Eshan Bannerjie	100% in Political Science Shaurya Saurabh 100% in Economics 1. Sooryam Goenka 2. Ishansh Jaiswal 3. Akshit Jalan 100% in Psychology Anubhav Das 100% in Mathematics 1. Pushkar Pandey 2. Bhaskar Agarwal 3. Anurag Baruah 4. Angad Riat 5. Ishan Mukherjee 100% in Physics Anurag Baruah 1. Kairav Barua 2. Angad Riat 3. Arkapravo Patra 100% in Biology 1. Ayush Trivedi 2. Pushkar Pandey 100% in Business Studies 1. Akshit Jalan 2. Krish M Desai

			-	2 A D
				3. Aman Bagaria
				Yugansh Arora
				Shreyansh Gupta
				6. Anhad Singh Saluja
				7. Sooryam Goenka
				<u>100% in</u>
				Accountancy
				 Manav Sindhi
				Bhaskar Agarwal
				Heet Singhi
				4. Kshitij Surana
				<u>100% in</u>
				Entrepreneurship
				 Aman Bagaria
				2. Vedant Khandelwal
				3. Harsh Saraf
				100% in Computer
				<u>Science</u>
				1. Pranjal Vatsa
				Soham Lahiri
				3. Sourajit Roy
Admission – Class XI	Complete	Complete		